Agensa.

- O. More Derivatives
- 1. Examples
- 2. Implicit Differentiation
- 3. Application of 2nd Derivative

O. More Derivatives.	[Without proof. :-]
$-\frac{d}{dx} \ln(x) = \frac{1}{x}$	Recall:
$ \rightarrow \frac{d}{dx} x^n = n \cdot x^{n-1} $	$-\frac{d}{dx}$ Sin(X) = COS(X)
$\rightarrow \frac{d}{dx} e^{x} = e^{x}$	$\rightarrow \frac{d}{dx} \cos(x) = -\sin(x)$
$+\frac{d}{dx}$ tan(x) = $\frac{\sec^2(x)}{\sec^2(x)} = \frac{1}{\cos^2(x)}$	
Results,	= f(g(x)) $=$ f'(g(x)) g'(x)
$\rightarrow \frac{d}{dx} \frac{f}{g} = \frac{gf' - fg'}{g^2}$ (quotient)	$-\frac{d}{dx} fog=(f'og) g'$ (chain)
$-\frac{d}{dx}fg=fg'+gf'$ (product)	$ \rightarrow \frac{\partial}{\partial x} f^{-1} = \frac{1}{\frac{f' \circ f^{-1}}{f'(f'(x))}} $ (inverse)

<u>L. Examples.</u>

a)
$$h(x) = \frac{3x^2+1}{x^5+x} = (3x^2+1) \cdot (x^5+x)^{-1}$$

 $+ \frac{d}{dx} fg = fg' + gf'$ (product)
 $f = (3x^2+1) = f' = 6x$ $:= f'og$
 $g = (x^5+x)^{-1} = g' = -(x^5+x)^{-2} \cdot (5x^{4}+1)$
 $(f'og) \cdot g'$, $x^{-1}o(x^{5}+x)$
 $f = x^{-1} = f' = -x^{-2}$; $g = x^{5}+x = g = 5x^{4}$
 $f = x^{-1} = f' = -x^{-2}$; $g = x^{5}+x = g = 5x^{4}$

*
$$[sin cx] = cos(x) \cdot x' \Rightarrow we're always using = cos(x) \cdot 1 = chain rule!$$

 $= - \cos(\cos(x)) \cdot \sin(x)$

$$h(x) = Sin(cos(x)) \begin{cases} f = Sin(x) \\ g = cos(x) \\ h'(x) = Cos(Cos(x)) \cdot [Cos(x)]' \end{cases}$$

$$-\frac{d}{dx}$$
 fog=(fog).g' (chain)

$$x' = (3x^2 + 1) \cdot 9' + (x^{5} + x)^{-1} \cdot 6x$$

C)
$$h(x) = Sin \left(cos(x^{2} + e^{x}) \right)$$

 $\left[cos(x^{2} + e^{x}) \right]'_{=} - Sin(x^{2} + e^{x}) \cdot (2x + e^{x}) = 9'$
 $\Rightarrow \frac{d}{dx} f \circ g_{=}(f' \circ g_{-}) \cdot g' \quad (chain)$
 $h'(x) = - Cos(cos(x^{2} + e^{x}))$
 $\cdot Sin(x^{2} + e^{x}) \cdot (2x + e^{x})$

d)
$$hcx_{1} = e^{\cos(x)} \cdot \sin(x^{2} \cdot \ln(x))$$

 $\left[e^{\cos(x)}\right]' = e^{\cos(x)} \cdot \left[\cos(x)\right]'$
 $= -e^{\cos(x)} \cdot \sin x$
 $\left[\sin(x^{2} \cdot \ln(x))\right]' = \cos(x^{2} \cdot \ln(x)) \left[x^{2} \cdot \ln(x)\right]'$
 $\left[\sin(x^{2} \cdot \ln(x))\right]' = \cos(x^{2} \cdot \ln(x)) \left[x^{2} \cdot \ln(x)\right]'$
 $= \cos(x^{2} \cdot \ln(x)) \left[2x \cdot \ln(x) + x\right]$
 $h'(x) = e^{\cos(x)} \left[\sin(x^{2} \cdot \ln(x))\right]' + \left[e^{\cos(x)}\right]' \sin(x^{2} \cdot \ln(x))$

el One more proof (please?)

 $\frac{d}{d} \ln(x) = \frac{1}{x}$

ln(x) is the inverse function of e^{x} .

3. Application of 2nd Derivative.

Osculating circle: · touches graph of f at point (x,y) · it has the same first and second derivative as f at (x,y) occulating circle/ **€**(x) (x° (d°) Eangent (x,y) "osculating circle provides second order local approximation to graph of f, while tangent line is only first-order approximation." Q: What is radius ~ of osculating circle?

(a)
$$(X - X_0)^2 + (Y - Y_0)^2 = r^2$$
 equin circle.
1. (X_0, Y_0) is the center of O . They are constants.
Now apply $\frac{d}{dx}$
 $\frac{d}{dx} [(X - X_0)^2 + (Y - Y_0)^2 = r^2]$
 $\frac{d}{dx} [(X - X_0)^2 + (Y - Y_0)^2 = r^2]$
 $\frac{d}{dx} [(X - X_0)^2 + (Y - Y_0)^2 = r^2]$
 $\frac{d}{dx} = \frac{1}{2}$
 $\frac{d}{dx} = \frac{1}{2}$

1.
$$y' = f(x)$$
 ((x)) ((x)

$$\frac{-1 - (\frac{dy}{dx})^{2}}{\frac{d^{2}y}{dx^{2}}} = \frac{y - y_{0}}{y_{0}} = \frac{-1 - (f'(x))^{2}}{f''(x)}$$
(C)
$$- (y - y_{0}) \cdot \frac{dy}{dx} = x - x_{0} = \frac{1 + (f'(x))^{2}}{f''(x)} \cdot f'(x)$$
(d)

$$(\chi - \chi_{0})^{2} + (\eta - \eta_{0})^{2} = r^{2}$$

$$\left(\frac{1 + (f'(x))^{2}}{f''(x)} \cdot f'(x)\right)^{2} + \left(\frac{1 + (f'(x))^{2}}{f''(x)}\right)^{2} = r^{2}$$

$$\left(\frac{1 + (f'(x))^{2}}{f''(x)}\right)^{2} (f'(x))^{2} + \left(\frac{1 + (f'(x))^{2}}{f''(x)}\right)^{2} = r^{2}$$

$$\frac{(1 + (f'(x))^{2})^{2}}{(f''(x))^{2}} \cdot \left((f'(x))^{2} + \frac{1}{2}\right)^{4} = r^{2}$$

$$\frac{(1 + (f'(x))^{2})^{3}}{(f''(x))^{2}} = r^{2} \Leftrightarrow \sqrt{\frac{(1 + (f'(x))^{2})^{3}}{(f''(x))^{3}}} = r$$

$$(f''(x))^{2} = r^{2} \Leftrightarrow \sqrt{\frac{(1 + (f'(x))^{2})^{3}}{(f''(x))^{3}}} = r$$

$$(f''(x))^{2} = r^{2} \Leftrightarrow \sqrt{\frac{(1 + (f'(x))^{2})^{3}}{(f''(x))^{3}}} = r$$

$$(f''(x))^{2} = r^{2} \Leftrightarrow \sqrt{\frac{(1 + (f'(x))^{2})^{3}}{(f''(x))^{3}}} = r$$

$$(f''(x))^{2} = r^{2} \Leftrightarrow \sqrt{\frac{(1 + (f'(x))^{2})^{3}}{(f''(x))^{3}}} = r$$

$$(f''(x))^{2} = r^{2} \Leftrightarrow \sqrt{\frac{(1 + (f'(x))^{2})^{3}}{(f''(x))^{3}}} = r$$

$$(f''(x))^{2} = r^{2} \Leftrightarrow \sqrt{\frac{(1 + (f'(x))^{2})^{3}}{(f''(x))^{3}}} = r$$

$$(f''(x))^{2} = r^{2} \Leftrightarrow \sqrt{\frac{(1 + (f'(x))^{2})^{3}}{(f''(x))^{3}}} = r$$

$$(f''(x))^{2} = r^{2} \Leftrightarrow \sqrt{\frac{(1 + (f'(x))^{2})^{3}}{(f''(x))^{3}}} = r$$

$$(f''(x))^{2} = r^{2} \Leftrightarrow \sqrt{\frac{(1 + (f'(x))^{2})^{3}}{(f''(x))^{3}}} = r$$

$$(f''(x))^{2} = r^{2} \Leftrightarrow \sqrt{\frac{(1 + (f'(x))^{2})^{3}}{(f''(x))^{3}}} = r$$

$$(f''(x))^{2} = r^{2} \Leftrightarrow \sqrt{\frac{(1 + (f'(x))^{2})^{3}}{(f''(x))^{3}}} = r$$

$$(f''(x))^{2} = r^{2} \Leftrightarrow \sqrt{\frac{(1 + (f'(x))^{2})^{3}}{(f''(x))^{3}}} = r$$

$$(f''(x))^{2} = r^{2} \Leftrightarrow \sqrt{\frac{(1 + (f'(x))^{2})^{3}}{(f''(x))^{3}}} = r$$

$$(f''(x))^{2} = r^{2} \Leftrightarrow \sqrt{\frac{(1 + (f'(x))^{2})^{3}}{(f''(x))^{3}}} = r$$

$$(f''(x))^{2} = r^{2} \Leftrightarrow \sqrt{\frac{(1 + (f'(x))^{2})^{3}}{(f''(x))^{3}}} = r$$

$$(f''(x))^{2} = r^{2} \Leftrightarrow \sqrt{\frac{(1 + (f'(x))^{2})^{3}}{(f''(x))^{3}}} = r$$

$$(f''(x))^{2} = r^{2} \Leftrightarrow \sqrt{\frac{(1 + (f'(x))^{2})^{3}}{(f''(x))^{3}}} = r$$

-ve curvature = f'(x) 20

f''(x) < 0K < 0 (circle below) f"(x)>0 K>0 (circle above)